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Rate of discount on all items = 10%
Marked Price of a pair of jeans = Z 1450 and Marked Price of a shirt = Z 850
Rate x MP._10x1450 _, o

Discount on a pair of jeans = St X MP:
100 100
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S.P. of each buffalo = ¥ 20,000

SP. of two buffaloes = 2 20,000 x 2 = 2 40,000
One buffalo is sold at 5% gain.

Let C.P. be ¥ 100, then S.P.= 100 + § = 2105

z When SP. s 2 105, then CP. = 2 100

When SP.is 2 1, then CP. = 120
105

‘When S.P. is € 20,000, then CP. = %xm =219,047.62

Another buffalo is sold at 10% loss.

Let CP. be 2 100, then S = 100 - 10 = 2 90

: When S.P.is ¥ 90, then CP. = 2 100
When SP.is ? 1, then CP. = -2

%

=190, 20000 =2 2222222
90

When SP. is 2 20,000, then CP.

Total CP. = 219,047.62 + 2 22,222.22 = ¥ 41,269.84
Since CP.>S.P.

‘Therefore here it s loss.

Loss = CP. - SP. = 741,269.84 - 2 40,000.00 = 7 1,269.84
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- = 213,000 and S.T. rate = 12%
Let CP. be 2 100, then S.P. for purchaser = 100 + 12 = 2 112
. When CP.is 2 100, then SP. = 2 112
When CP.is?1,thensP.= 12
100

1213000 = 2 14,560

When CP.is 213,000, then S.P.
100
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SP. = 21,600 and Rate of discount = 20%
Let MP. be 2 100, then S.P. for customer = 100 - 20 = ¥ 80
% When S.P. is 2 80, then M.P. = 2 100

When SP.is 21, then M. = 120
0

When S.P. is 21600, then MP.

00
0 %160 = 22,000
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When price including VAT is 2 1, then original price = %

When price including VAT is 2 5400,

109, 5400 = 2 5000
108
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CP.= 25400 and Rate of VAT = 8%
Let C.P. without VAT is 2100, then price including VAT = 100 + 8 = 2 108
4 When price including VAT is 2 108, then original price = 2 100
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Letoriginal salary be ? 100.

Therefore New salary ie., 10% increase = 100 + 10 = 2 110

New salary is ? 110, when original salary = ¢ 100
100

New salary is ? 1, when original salary =

New salary is ? 1,54,000, when original salary = %, 154000 = 2 1,40,000

Hence original salary is ? 1,40,000.
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On Sunday, people went to the Zoo = 845
On Monday, people went to the Zoo = 169
Number of decrease in the peaple = 845 - 169 = 676

Decrease percent = 15 x100 = 80%
845

Hence decrease in the people visiting the Zoo is 80%.
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No. of articles =80

Cost Price of articles = 7 2,400

And Profit = 16%

2 Cost price of articles is 100, then selling price = 100 + 16 = 2 116
6

. Cast price of articles is 1, then selling price =

100
. Cast price of articlesis # 2400, then selling price = %x 2400 = 22784

Hence, Selling Price of 80 articles = 2 2784

‘Therefore Selling Price of 1 article = % =73480
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Here, CP. = 2 15,500 and Repair cost = 2 450
Therefore Total Cost Price = 15500 + 450 = 2 15,950
Let CP be 2 100, then SP. =100+ 15 =2 115
- When CP.is ? 100, then SP. = 2 115
When CP.is 2 1,thensP. = 1L
100

US, 15950 = 2 1834250

When CP.is 2 15950, then S.P.
en CP.is n 00
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Cost price of VCR = 2 8000 and Cost price of TV = 2 8000
Total Cost Price of both articles = 2 8000 + 2 8000 = 2 16,000
Now VCR s sold at 4% loss.

Let CP. of each article be ? 100, then S.P. of VCR = 100 - 4 = 2 96
. When CP.is 2 100, then SP. = 2 96

When CP.is 2 1,thenSP. = -
100
When C.P.is 2 8000, then SP. = %‘m = 27,680

And TV is sold at 8% profit, then SP. of TV= 100+ 8 = ? 108
= When CP.is 2 100, then SP. = 2 108

When CP.is ? 1, then SP.

100
When CP. is 8000, then S.P.

‘Then, Total S
Since S.P.>CJ
‘Therefore Profit = S.P. - CP. = 16320 - 16000 = 2 320

And  Profitds = P8 100= 320 100 =29
16000

Cost Price

%8000 = 28,640

100
=27,680 + 28,640 = 2 16,320
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- SP.of a pair of jeans = 2 1450 - 2 145 = 2 1305

Marked Price of two shirts =2 850 = 2 1700

Rate x MP._10x1700
100 100

~. SP.of two shirts = 2 1700 - 2 170 = 1530

‘Therefore, the customer had to pay = 1305 + 1530 =

Discount on two shirts = =2170

2835




